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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name: Linear Integrated Circuits 
 

Subject Code: 2TE04LIC1                                 Branch: Diploma (EC) 

   

Semester: 4                 Date: 24/04/2018                Time: 10:30 To 01:30    Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

  
Q-1  Attempt the following questions: (14)  

 a)  Another name for a unity gain amplifier is 

A) difference amplifier     B) comparator     C) single ended    D) voltage follower 
 

 b)  What is the output waveform of integrator if input is square wave? 

A) sine wave      B) square wave      C) sawtooth wave      D) triangle wave 
 

 c)  A non inverting closed-loop op-amp circuit generally has a gain factor: 

A) less than one      B) greater than one        C) of zero         D) equal to one 
 

 d)  Op-Amps used as high- and low-pass filter circuits employ which configuration? 

A) noninverting     B) comparator      C) open-loop     D) inverting 
 

 e)  What starts a free-running multivibrator? 

A) a trigger    B) an input signal     C) an external circuit     D) nothing 
 

 f)  A portion of the output that provides circuit stabilization is considered to be 

A) negative feedback    B) distortion    C) open-loop    D) positive feedback 
 

 g)  Input impedance of an inverting amplifier is approximately equal to 

A) Ri       B) Rf + Ri     C) Ro     D) Rf - Ri 
 

 h)  If the input to a comparator is a sine wave, the output is a 

A) ramp voltage     B) sine wave     C) rectangular wave      D) sawtooth wave 
 

 i)  The ratio between differential gain and common-mode gain is called  

A) amplitude  B) voltage rejection C) common-mode rejection  D) phase 
 

 j)  The Schmitt trigger is a two-state device that is used for 

A) pulse shaping    B) peak detection    C) input noise rejection    D) filtering 
 

 k)  Difference between common-mode and differential-mode input signals is 

A) phase relationship       B) voltage        C) current       D) apparent power 
 

 l)  An ideal operational amplifier has 

A) infinite Ro      B) zero Ri        C) infinite bandwidth      D) All of the above 
 

 m)  An astable multivibrator is also known as a………… multivibrator. 

A) one-shot   B) free-running    C) bistable     D) monostable  
 

 n)  The common-mode voltage gain is  

A) < differential Av   B) equal to Av  C) > differential Av   D) None of the above 
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Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) Draw and explain the block diagram of Op-Amp.  

 (b) What is ICs? Explain the three basic types of Linear IC packages.  

    

Q-3  Attempt all questions (14) 

 (a) What type of feedback is present in the non-inverting amplifier? Derive 

expression for voltage gain of a noninverting amplifier. 
 

 (b) Explain Summing, Scaling and Averaging amplifier using inverting op-amp 

configuration in detail. 
 

    

Q-4  Attempt all questions (14) 

 (a) Draw and explain working of basic differentiator circuit.  

 (b) Explain voltage to current converter with grounded load.  

    

Q-5  Attempt all questions (14) 

 (a) Explain working of op-amp based Schmitt trigger circuit along with schematic 

and input/output waveforms. 
 

 (b) Explain the application of op-amp as a positive and negative clipper circuit.  

    

Q-6  Attempt all questions (14) 

 (a) Write a technical note on Peak Detector.  

 (b) Draw 555 timer block diagram. Explain its working and its use as a monostable 

multivibrator. 
 

    

Q-7  Attempt all questions (14) 

 (a) Draw and explain working of Sample and Hold circuit using op-amp.  

 (b) Describe operation of each block of Phase Locked Loop. List out PLL 

applications. 
 

    

Q-8  Attempt all questions (14) 

 (a) Draw and explain working of IC 723 voltage regulator.  

 (b) Explain IC 8038 function generator in detail.  

    
 

 

 

Q-1  Attempt the following questions: (14)  

 a)  યનુનટી ગેઇન એમ્પ્રીપામય ભાટે………. અન્મ નાભ છે  
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એ) તપાલત એમ્પ્રીપામય   ફી) તરુનાત્ભક   સી) એક અંત  ડી) લોલ્ટેજ અનમુામી 
 b)  જો ઈન઩ટુ ચોયસ તયંગ છે તો સકંરનકાયનુ ંઆઉટ઩ટુ તયંગ શુ ંછે? 

એ) સાઈન લેલ    ફી) ચોયસ લેલ     સી) ળેતયંજ તયંગ     ડી) નિકોણ તયંગ 

 

 c)  નોન-ઇનલર્ટિંગ ફધં-લ઩ૂ Op-Amp સર્કિટભા ંસાભાન્મ યીતે ગેઇન પેક્ટય………છે: 
એ) એક કયતા ંઓછી    ફી) એક કયતા ંલધ ુ    સી) શનૂ્મ      ડી) એક સભાન 

 

 d)  ઉચ્ચ- અને રો-઩ાસ ર્પલ્ટય સર્કિટ તયીકે ઉ઩મોગભા ંરેલાતા Op-Amp 
કોન્ન્પગયેળન………….નુ ંકાભ કયે છે? 

એ) નોન-ઇનલર્ટિંગ    ફી) તરુનાત્ભક    સી) ઓ઩ન લ઩ૂ     ડી) ઇનલર્ટિંગ 

 

 e)  . ફ્રી-યનનિંગ ભન્લ્ટલામબે્રટય ની ળરૂઆત……….. થામ છે? 

એ) એક ર્િગય    ફી) એક ઇન઩ટુ સકેંત      સી) એક ફાહ્ય સર્કિટ ડી) કંઇ નહીં  

 

 f)  આઉટ઩ટુનો એક બાગ જે સર્કિટ સ્થથયીકયણ પ્રદાન કયે છે તે…...ભાનલાભા ંઆલે છે 

એ) નકાયાત્ભક પ્રનતર્િમા   ફી) નલકૃનત    સી) ઓ઩ન-લ઩ૂ  ડી) સકાયાત્ભક પ્રનતર્િમા 

 

 g)  ઇન઩ટુ અલફાધ ઇનલર્ટિંગ એમ્પ્રીપામયભા ંરગબગ………. સભાન છે 

એ) Ri       ફી) Rf + Ri     સી) Ro     ડી) Rf - Ri 

 

 h)  જો એક કમ્પ઩ેયેટયભા ંઇન઩ટુ એક સાઈન તયંગ છે, તો આઉટ઩ટુ એક……. છે 

એ) યેમ્પ઩ લોલ્ટેજ   ફી) સાઈન લેલ    C) રફંચોયસ તયંગ ડી) સૉટયથૂ તયંગ 

 

 i)  તપાલત ગેઇન અને સાભાન્મ-ભોડ ગેઇન્સ લચ્ચેનો ગણુોત્તય….. કહલેાભા ંઆલે છે. 

એ) કં઩નનલથતાય   ફી) લોલ્ટેજ અથલીકાય     સી) સાભાન્મ-સ્થથનત અથલીકાય  
ડી) તફક્કો 

 

 j)  સ્મભટ ર્િગય એક ફે-થટેટ ર્ડલાઇસ છે જેનો ઉ઩મોગ……….. થામ છે 

એ) ઩લ્સ આકાયણી   ફી) ઩ીક ળોધ  સી) ઇન઩ટુ અલાજ અથલીકાય   ડી) ર્પલ્ટર્યિંગ 

 

 k)  સાભાન્મ-ભોડ અને તપાલત-ભોડ ઇન઩ટુ નસગ્નરો લચ્ચેનો તપાલત………. છે 

એ) તફક્કા સફંધં    ફી) લોલ્ટેજ     સી) લતતભાન     ડી) થ઩ષ્ટ ળસ્ક્ત 

 

 l)  એક આદળત ઓ઩યેળનર એમ્પ્રીપામય ઩ાસ…ે.. છે 

એ) અનતં Ro    ફી) શનૂ્મ Ri     સી) અનતં ફેન્ડનલડ્થ   ડી) ઉ઩યના ફધા 

 

 m)  એક અસ્થિર ભન્લ્ટલામબે્રટય ન ે............ ભન્લ્ટલામબે્રટય તયીકે ઩ણ ઓ઱ખલાભા ં
આલે છે. 
એ) એક ળોટ   ફી) ફ્રી યનનિંગ   સી) ફામથટેફર     ડી) ભોનોથટેફર 

 

 n)  સાભાન્મ-સ્થથનતનુ ંલોલ્ટેજ ગેઇન છે  
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એ) < differential Av    ફી)  સભાન છે     સી) > differential Av     ડી) કોઈ નહીં 
 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) ઓ઩-એમ્પ઩ના બ્રોક યેખાકૃનત દોયો અને સભજાલો.  

 (b) ICs શુ ંછે? રીનનમય આઈસી ઩ેકેજોના િણ મ઱ૂભતૂ પ્રકાયો સભજાલો.  

    

Q-3  Attempt all questions (14) 

 (a) નૉન-ઇનલર્ટિંગ એમ્પ્રીપામયભા ંકમા પ્રકાયની પ્રનતસાદ હાજય છે? નોનઇન્લયટીંગ 
એમ્પ્રીપામયના લોલ્ટેજ ગેઇન્સ ભાટે સિૂ ળોધો. 

 

 (b) નલગતલાય, ઑ઩-એમ્પ઩ રૂ઩યેખાકંનને ઇનલર્ટિંગનો ઉ઩મોગ કયીન ેસભીંગ, થકેલરિંગ 
અને એલયેલઝિંગ એમ્પ્રીપામયન ેસભજાલો. 

 

    

Q-4  Attempt all questions (14) 

 (a) મ઱ૂભતૂ ર્ડપયસ્ન્સએટોય સર્કિટના કાભનુ ંલણતન કયો અને સભજાલો.  

 (b) લોલ્ટેજ ભાથી કયન્ટ કન્લટતય Grounded રોડ સાથે સભજાલો.  

    

Q-5  Attempt all questions (14) 

 (a) થકેભેર્ટક અને ઇન઩ટુ / આઉટ઩ટુ તયંગથલરૂ઩ની સાથે ઑ઩-એમ્પ઩ આધાર્યત સ્મભટ 
ર્િગય સર્કિટનુ ંકાભ સભજાલો. 

 

 (b) ઑ઩-એમ્પ઩ની સકાયાત્ભક અને નકાયાત્ભક ક્ક્ર઩ય સર્કિટ તયીકે એક્્રકેળનને 
સભજાલો. 

 

    

Q-6  Attempt all questions (14) 

 (a) ઩ીક ડીટેક્ટય ઩ય ટેસ્નિકલ નોંધ રખો.  

 (b) 555 ટાઈભય બ્રોક યેખાકૃનત દોયો. તેના કામત અન ેએનો ઉ઩મોગ એક ભોનોથટેફર 
ભન્લ્ટલામબે્રટય તયીકે લણતલો. 

 

    

Q-7  Attempt all questions (14) 

 (a) સેમ્પ઩ર અને હોલ્ડ સર્કિટ દોયો અને કાભનુ ંલણતન કયો અને સભજાલો.   

 (b) પેજ રૉક લ઩ૂની દયેક બ્રોકનુ ંસચંારન લણતલો. ઩ીએરએર એક્્રકેળનની માદી 
આ઩ો. 

 

    

Q-8  Attempt all questions (14) 
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 (a) આઇસી 723 લોલ્ટેજ યેગ્યરેુટય દોયો અને કાભનુ ંલણતન કયો અને સભજાલો.  

 (b) નલગતલાય આઈસી 8038 પંક્ળન જનયેટય સભજાલો.  

    
 


